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(1) Determaine the sign of the following function:

(2)

(3)

(4)

(@) f(x) =3.5 (b) f(x) = —6
Determaine the sign of the following function:
(@) f(x) =3x+6 (b) f(x) =5—2x
Y
the opposite figure represents A
2

a function of first degree in x

Complete the following:

(d) f(x) =0,atxe{..}

(b) f(x)is positive in the
Interval .........

(c) f(x)is negative in the
Interval ......

The opposite figure represents
a function of first degree in x
Complete the following:

(@) f(x) =0,atxe{..}

(b) f(x) > zero when ...
(c) f(x) < zerowhen ...
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(5) Graph the curve of the function f: f(x) = 3cos0, where
0 € [0, 2], From the graph, find the maximum and the
minmum values of the function- the range of the function,

its period.
(6) In the opposite figure: B
BD n CE = {A}, AD =3 cm, D,
£ _ cm
DB—13cm,CE—_80m A
Find the length of AE
’ E
C
(7) In the opposite figure:
L is a point outside the circle,
LZ is a secant to the circle v 6cm L
At X, Z respectviay
4cm
If LY = 6cm, LX = 4cm, XZ = 5cm 4

First: prove that

LYisa tangent to the circle
Second: A LYX ~A LZY Z
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(8) Two similar polygons the ratio between their perimeters

(9)

is 3: 2, if the area of the smaller polygon is 40 cm®,
find the area of the greater polygon.

In the opposite figure:
D € BC, where AC= 12cm,
BD = 10cm, CD = 8cm.

. C 8cm D 10cm
First: prove that A ABC ~A DAC *
Second: the ratio between the areas of A ABC, A DAC

12cm

(10) In the opposite figure: A

BAC is a right angled triangle at A
AD 1 BC, AD =210 cm,
BD = xcm,cd = (2x + 2)cm 2V10 cn

Find the value of X C 1 B
(2x+2)cm D X
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In the opposite figure:

A
X € AB, where AX =4cm Lem
XB = 6¢cm, Y € AG, >Cm -
AY = 5cm, YC = 3cm %
Prove that: 3cm

First: a) A AXY ~A ACB c -
b) the figure XBCY is a cyclic quadrilateral.

Second: if area of triangle AXY = 8 cm?,

find area of the figure XBCY.

(12) In the opposite figure: dem

(13) In the opposite figure:

ABCD is a quadrilateral

its diagonals intersect at E, where

EA = 4cm, EC = 16cm, EB = ED = 8cm. B
Prove that ABCD is a cyclic quad.

ABC is a triangle, E € AC,D € AB
Where DE // BC, AD = 3cm
DB=5cm, AC=16cm,

Find the length of AE .
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(14) In the opposite figure: 5em
ABC is a triangle, E € AC,D € AB
Where DE // BC, AB =12cm 10cm
AE =10cm, EC=5cm, BD =xcm
Find the value of x

(15) In the opposite figure:
ABC is a triangle, E € BC,D € AB
Where DE // AC,CB=xcm
AD=8cm,DB=12cm, EB=15cm 7
Find the value of x

A 8m D 1lzm  ©





